

SF	READS	HEET 069-JJ01: FURNITURE , TABLES, BOOK		~~~ ·····				1					
		DISPLAYER AND LECTERNS			ALI	LIED PLASTICS	INC	:	ERNIE MO ITERPRIS		HER	TZ FURN	ITURE
ITEM	M-DCPS#	DESCRIPTION	QTY.	UNIT	PRICE PER UNIT	EXTENDED PRICE	MANUFACTURER & MODEL #	PRICE PER UNIT	EXTENDED PRICE	MANUFACTURER & MODEL #	PRICE PER UNIT	EXTENDED PRICE	MANUFAC URER & MODEL #
		Items 1 through 1B										-	
1	Partial	Table: Classroom, 30" x 60"adjustable Metal Legs, Approved Brands: Allied Plastics #HC3060WB/L2000CR, Virco # and P50360/L2000CR or Virco # 483060PLY-Plywood, or Moultrie Post Form # MPF 3060CTPW or Equal. 483060PLY-Plywood, or equal.	·										
<u> </u>		Minimum Order 1-25	25	EACH -	\$112.00	\$2,800.00	P53060/L-2000CRX	NO BID			NO BID	Ì	
1A	Partial	Minimum Order 26 or More	650	EACH	\$108.00	\$70,200.00	P53060/L-2000CRX	NO BID			NO BID		
1B	Partial	Same specification as Item 1 -Accept color Options Are Revised: Mahogany, Graphite, Cherry and Gray. Minimum Order 1 or more.	100	EACH	\$120.00	\$12,000.00	P53060/L-2000CRX	NO BID			NO BID		
1C	Partial	Installation for Items 1 through 1B:	%	FEE	10%		2000011	NO BID			NO BID		
		TOTAL LOW GROUP ITEMS 1-1B				\$85,000.00			NO BID			NO BID	
												, AC 5.15	
2	BALANCE	Item 2 and 2A, Awarded TOTAL Low Group Table: Folding, adjustable height, 30" x 72", h laminate on approximately 3/4" plywood core with backer Approved Brands: Allied Plastics 133072WBCA and #133072WACA, or Virco # 623072PLY-Plywood, or Equal.											
		Minimum Order 1-25	25	EACH	\$113.00	\$2,825.00	ALLIED 133072CA	NO BID			NO BID		
2A	BALANCE	Minimum Order -26 or More	200	EACH	\$98.00	\$19,600,00	ALLIED 133072CA	NO BID			NO BID		
2B	BALANCE	Installation for Items 2 and 2A:	%	FEE	10%			NO BID			NO BID		
		TOTAL LOW GROUP ITEMS 2 and 2A.						NO 515		·	IVO BID		
_		TOTAL LOW GROUP HEMS 2 and 2A.				\$22,425.00			NO BID			NO BID	
3	BALANCE	Item 3 and 3A, Awarded Total Low Group Table: Student Center Kidney Shaped, laminated top and chrome finish adjustable legs. Size 72" W											
		x 48" D Approved Brands: Allied Plastics # P5472K/L-2000, and P5472K/ L2000CR or Virco #48KID72PLY-Plywood or Moultrie Post Form #MPF 4872KTPW or Equal.											
		Minimum Order 25 or More	400	EACH	\$164.00	\$65,600.00	ALLIED P5472K/L- 2000CR	NO BID			NO BID		
3A	BALANCE	Same specification as item 3 -Accept color Options Are Revised: Mahogany, Graphite, Cherry and Gray, Minimum order 1-50.	25	EACH	\$180.00	\$4,500.00	ALLIED P5472K/L- 2000CR	NO BID			NO BID		
3B	BALANCE	Installation for Items 3 and 3A:	%	FEE	10%			NO BID			NO BID		
		Total Low Group Items 3 and 3B.				\$70,100.00			NO BID			NO BID	



S	PREADS	HEET 069-JJ01: FURNITURE , TABLES, BOOK		* - * * * * * * * * * * * * * * * * * *				T	***				
		DISPLAYER AND LECTERNS			ALI	LIED PLASTICS	INC		ERNIE MO ITERPRIS		HER	ITZ FURN	ITURE
ITEN	M-DCPS#	DESCRIPTION	QTY.	UNIT	PAICE	EXTENDED PRICE	MANUFACTURER & MODEL #	PRICE	EXTENDED PRICE	MANUFACTURER & MODEL #	PRICE	EXTENDED PRICE	MANUFAC URER & MODEL#
4	BALANCE	Items 4 and 4A, Awarded Total Low Group		 	PER UNIT			PER UNIT			PER UNIT	 	├
		Table: Trapezoidal, Metal legs, adjustable height, 30" x 30" x 60" Approved Brands: Allied Plastics #HC30TPTT/L-2000CR, or Virco #48TRAP60PLY-Plywood W(2) UTOTE TRAYS, or Equal											
		Minimum Order 26 or More	100	EACH	\$96.00	\$9,600.00	ALLIED P530TP/L- 2000CR	NO BID			NO BID	†	
4A	BALANCE	Minimum Order 100 or More	200	EACH	\$94.00	\$18,800.00	ALLIED P530TP/L-	NO BID	1			i	\vdash
4B	BALANCE	Installation for Items 4 and 4A:	%	FEE	10%	\$10,000.00		NO BID			NO BID NO BID		
		TOTAL LOW GROUP ITEMS 4 AND 4A				\$28,400,00		1000	NO BID		מום סוט		
	·	items 5, Awarded Low Unit Measure						 	NO BID			NO BID	
5	•	Table: Trapezoid, metal legs, adjustable height, 30" x 30" x 60 Approved Brands: Allied Plastics #HC30TP/L-2000CR, or Virco #48TRAP60PLY- Plywood, or Equal											
		Minimum Order 26 or More	130	EACH	\$98.00	\$12,740.00	ALLIED P530TPTT/L- 2000BK	NO BID			NO BID		
5A	BALANCE	installation for Item 5:	%	FEE	10%			NO BID			NO BID		
		LOW UNIT MEASURE ITEM 5				\$12,740.00			NO BID			NO BID	
		Items 6 and 6A, Awarded Total Low Group											
6	PARTIAL	Table: adjustable height, 24" x 36", minimum table thickness											
		Approved Brands: Allied Plastics #F52436L-200 or Virco #482436 or Equal.											
		Minimum Order 1 -25	30	EACH	\$57.00	\$1,710.00	F52436/L-200BK	NO BID			NO BID	<u></u>	
6A	PARTIAL	Minimum Order 26 or More	100	EACH	\$59.00		F52436/L-200BK	NO BID			NO BID		
6B	PARTIAL	Installation for Item 6 and 6A:	%	FEE	10%			NO BID			NO BID		
		TOTAL LOW GROUP ITEMS 6 AND 6A			1070	\$7,610.00			NO BID			NO BID	

SF	READS	HEET 069-JJ01: FURNITURE , TABLES, BOOK		Anial distance				T				***************************************	
		DISPLAYER AND LECTERNS			AL	LIED PLASTICS	INC	 	ERNIE MO	RRIS	HER	TZ FURN	ITURE
									NTERPRIS		<u> </u>	1210111	110112
			<u> </u>				-	ļ					
 	T		T	T		EXTENDED PRICE		 	EXTENDED		ļ	T commen	-
ITEM	M-DCPS#	DESCRIPTION	QTY.	UNIT	PRICE	2.1.2.2.2.1.1.00	MANUFACTURER & MODEL #	PRICE	PRICE	MANUFACTURER	55105	EXTENDED PRICE	MANUFACT URER &
l			ļ	<u> </u>	PER UNIT		110022	PER UNIT		& INDUEL#	PRICE PER UNIT		MODEL#
	l	Items 7 and 7A, Awarded Total Low Group	<u> </u>										
7	PARTIAL	Table: adjustable height, 24" x 48". Approved Brands: Allied Plastics #F52448L-200, Virco #482448 or Equal.											
		Minimum Order 1-25	30	EACH	\$64.00	\$1,920.00	ALLIED F52448/L- 2000BK	NO BID			NO BID		
L.				l	1		ALLIED F52448/L-						
7A .		Minimum Order 26 or More	100	EACH	\$60.00	\$6,000.00		NO BID			NO BID		
7B	PARTIAL	Installation for Items 7 and 7A:	%	FEE	10%	<u> </u>		NO BID	<u> </u>		NO BID		
 	 -	TOTAL LOW GROUP ITEMS 7 AND 7A Items 8 and 8A, Awarded Total Low Group	<u> </u>	├──	 	\$7,920.00			NO BID			NO BID	
	SU MOS			 	 			 	ļ				
8	BALANCE	Table: Classroom, adjustable height, 24* W x 60°L. Approved Brands: Allied Plastics #HC2460/L2000, or Virco #482460PLY, or Equal.											
		Minimum Order 1-25	50	EACH	\$90.00	\$4,500.00	ALLIED P2460/L- 2000CR	NO BID			NO BID		
8A	BALANCE	Minimum Order 26 or more	120	EACH	\$86.00	\$10,320.00	ALLIED P2460/L- 2000CR	NO BID			NO BID		
8B	BALANCE	Installation for Items 8 and 8A:	%	FEE	10%			NO BID			NO BID		
		TOTAL LOW GROP ITEMS 8 AND 8A				\$14,820.00			NO BID				
		Items 9 Through 9B, Awarded Total Low Group											
9	BALANCE	Table: adjustable height, 48". Approved Brands: Allied Plasstics #HC48CR/L-2000, and P548CR/L-2000CR or Virco 4848RPLY, or Moultrie Post Form # MPF 48RTPWT or Equal.					ŕ						
		Minimum Order 1 - 25	30	EACH	\$132.00	\$3,960.00	ALLIED P548CR/L- 2000CR	NO BID			NO BID		
9A	BALANCE	Minimum Order 26 or more	100	EACH	\$129.00	\$12,900.00	ALLIED P548CR/L- 2000CR	NO BID			NO BID		
9B	BALANCE	Same specification as Item 9 -Accept color Options Are Revised: Mahogany, Graphite, Cherry and Gray. Minimum order 1-50.	100	EACH	\$140.00	\$14,000.00	ALLIED P548CR/L- 2000CB	NO BID			NO PIO		
9C	BALANCE	Installation for Items 9 and 9B:	%	FEE	10%	⊕ 1+1,000,00		NO BID			NO BID		
		TOTAL LOW GROUP ITEMS 9 and 9B		1 to b-	10%	\$30,860.00		טוט טאו	NO BID		NO BID		
		items 10, Awarded Low Unit Measure				\$30,860.00			NO BID				
10	BALANCE	Table, Oak- Two compartments, approximately 18" x 46" x 23", Approved Brands: No current approved brands for this item.											
		Minimum Order 50 or more	250	EACH	NO BID			NO BID			NO BID		
10A	BALANCE	Installation for Items 10:	%	FEE	NO BID			NO BID			NO BID		$\overline{}$
	,												
		LOW UNIT MEASURE FOR ITEM 10				NO BID			NO BID				

SF	READS	HEET 069-JJ01: FURNITURE, TABLES, BOOK DISPLAYER AND LECTERNS											
		DISPLATER AND LEGIERNS			. Д	LLIED PLASTICS I	INC		ERNIE MC ITERPRIS		HER	IZ FURN	ITURE
	T			T		EXTENDED PRICE							
ITEM	M-DCPS#		QTY.	UNIT	PRICE PER UNIT	EXTENDED FRICE	MANUFACTURER & MODEL #	PRICE PER UNIT	EXTENDED PRICE	MANUFACTURER & MODEL #	PRICE PER UNIT	PRICE	MANUFACT URER & MODEL #
	l .	Items 11, Awarded Low Unit Measure									1 2.10.111		1
11	Partial	Desk - Two open-front book boxes, top is continuous and approximately 22" to 30", Approved Brands: Virco #792026BB or Equal.											
	ļ	Minimum Order 50 or more	400	EACH	NO BID	·		NO BID			NO BID		
11A	Partial	Installation for Items 11:	%	FEE	NO BID			NO BID			NO BID		
		LOW UNIT MEASURE FOR ITEM 11				NO BID			NO BID		NO BID		
		Items 12 Through 14, Awarded Total Low Group						1					
12	Partial	Stool - Oak, approximately 13" diameter seat, 24". Approved Brands: Georgia Chair # 24-G or Pride Ent. # 4SPOS- 24 or Equal.											
		Minimum Order 100 or more	400	EACH	NO BID			NO BID	·		NO BID		
13	Partial	Stool - Oak, approximately 13" diameter seat, 30" Approved Brands: Georgia Chair # 30-G or Pride Ent. # 4SPOS- 30 or Equal.											
		Minimum Order 50	200	EACH	NO BID			NO BID			NO BID		
14	Partial	Stool - Oak, approximately 13" diameter seat, 18". Approved Brands: Georgia Chair # 18-G or Pride Ent. # 4SPOS- 18 or Equal.						NO DID			VO BID		
		Minimum Order 50	200	EACH	NO BID			NO BID	***		NO BID		
14A	Partial	Installation for Items 12 through14:	%	FEE	NO BID			NO BID			NO BID		
		Total Low Group items 12-14A				NO BID		NO BID	NO DID		MO RID		
		items 15, Awarded Low Unit Measure				1.0 510			NO BID				
15	Partial	Tote Tray - 11"W x 16"L x 4"D Approved Brands: Fabri Form # T165A or Equal.											
		Minimum Order 129 or more	645	EACH	NO BID			NO BID			NO BID		
15A	Partial	Installation for Items 15:	%	FEE	NO BID			NO BID		***************************************	NO BID		
		Low Unit Measure 15				NO BID			NO BID				

SF	PREADS	HEET 069-JJ01: FURNITURE , TABLES, BOOK					*	T					
		DISPLAYER AND LECTERNS			А	LLIED PLASTICS	INC	1	ERNIE MO	RRIS	HEF	TZ FURN	ITURE
								E)	NTERPRIS	ES INC.			
			<u> </u>	***************************************									
-	<u> </u>			•									
ITEN	M-DCPS#	DESCRIPTION	QTY.	UNIT	PRICE PER UNIT	EXTENDED PRICE	MANUFACTURER & MODEL #	PRICE PER UNIT	EXTENDED PRICE	MANUFACTUREF & MODEL #	PRICE PER UNIT	EXTENDED PRICE	MANUFACT URER & MODEL #
Г		items 16, Awarded Low Unit Measure	T					1 1 27 0 0 11			PER UNIT		
16	Partial	Book Displayer, 62"H x 25"W. Approved Brands: Fabrı Form # T165A or Equal.						 	 		ļ		
		Minimum Order 1- 25	36	EACH	NO BID			NO BID					
16A	Partial	Installation for Items 16:	%	FEE	NO BID			Name and Address of			NO BID		
	1	Low Unit Measure Item 16	 	 -	INC DID	NO BID		NO BID	<u> </u>	 	NO BID	 	
		Items 17 Through 17B, Awarded Total Low Group	 			NO DID	 	 	NO BID	 	 		
17	Partial	Lectern, 48"H x 23"W x 16"D, Approved Brands: Ironwood manufacturing SL Stand-up Lecternor National Public Seating ESL-222 or Oklahoma Sound Corp. 222-MO or Equal.											
		Minimum Order: 1 to 5	22	EACH	NO BID			\$183.38	\$4,034.36	OKLAHOMA SOUND-222	\$143.40	\$3,154.80	AS SPEC
17A	Partial	Minimum Ordeí: 6 to 25	66	EACH	NO BID			\$158.30	\$10,447.80	OKLAHOMA SOUND-222	\$143.40	\$9,464.40	AS SPEC
17B	Partial	Minimum Order: 26 or more	72	EACH	NO BID			\$143.85	\$10,357.20	OKLAHOMA SOUND-222	\$139.10	\$10,015.20	VC CDEC
17C	Partial	Installation for Items 17 through 17B:	%	FEE	NO BÌD		Î.	7%	# 10,007 i.e.		40%	\$10,015.20	AS SPEC
		TOTAL LOW GROUP ITEMS 17 -17B	<u></u>			NO BID			\$24,839.36			\$22,634.40	
		items 18 and 18A, Awarded Total Low Group	1			1							
18	Parlial	Stool, step, steel, approximately 16" diameter x 13" Approved Brands: Cramer Kik-Step 1001-92 (Black), 1001-19 (Beige) and 1001-82 (Gray) or Equal.											
		Minimum Order 1 to 4 each	10	EACH	NO BID			NO BID			NO BID		
18A	Partial	Minimum Order 5 or more	35	EACH	NO BID			NO BID					
18B		Installation for Items 18 and 18 A:	%	FEE	NO BID			NO BID 7%			NO BID		
		Total Low Group items 18 and 18 A	<u> </u>		NO DID	NO BID		1%	NO BID		NO BID		
		Items 19 and 19A, Awarded Total Low Group							טום טעו				
19	Partial	Rocker,-Oak, Adult, natural wood finish,											
		46" to 48" high and seat approximately 20" W x 18"D, Approved Brands: Georgia Chair # 50S or Equal.											
	·	Minimum Order 1 to 4 each	20	EACH	NO BID			NO BID			NO BID		
19A	Partial	Minimum Order 5 or more	25	EACH	NO BID			NO BID			NO BID		
19B	Partial	Installation for Items 19 and 19A:	%	Fee	NO BID			NO BID			NO BID		
		Total Low Group Items 19 and 19A		1.5		NO BID			NO BID		עום טיי	NO BID	
20		BALANCE OF LINE DISCOUINT:							MO BID			מום טאי	
			%	BALANCE	50%			0%			NO BID		

SI	PREADS	HEET 069-JJ01: FURNITURE, TABLES, BOOK		- Atana -				**	***************************************							
		DISPLAYER AND LECTERNS			Krue	ger Internat	ional, Inc.	Мо	ultrie Post	Form, Inc.	Offic	e Elite Ser	vices Inc.	Indus	n Rehabat tries & Div nterprises	ersified/
ITEN	M-DCPS#	DESCRIPTION	QTY.	UNIT	PRICE PER UNIT	EXTENDED PRICE	MANUFACTUREF & MODEL #	PRICE PER UNIT	EXTENDED PRICE	MANUFACTURER (MODEL #	PRICE PER UNIT	EXTENDED PRICE	MANUFACTURE R & MODEL #	PRICE PER UNIT	EXTENDED PRICE	MANUFACTURE R & MODEL #
		Items 1 through 1B													-	
1	Parlial	Table: Classroom, 30° x 60°adjustable Metal Legs, Approved Brands: Allied Plastics #HC3060WB/L2000CR, Virco # and P53060/L2000CR or Virco # 483060PLY-Plywood, or Moultrie Post Form # MPF 3060CTPW or Equal. 483060PLY-Plywood, or equal.														
		Minimum Order 1-25	25	EACH	\$171.08	\$4,277.00	KI-E3060/A/BL	\$87.50	\$2,187.50	MPF3060CTPW	NO BID			NO BID		
1A	Partial	Minimum Order 26 or More	650	EACH	\$171.08	\$111,202.00	KI-E3060/A/BL	\$82.50	\$53,625.00	MPF3060CTPW	NO BID			NO BID		
1B	Partial	Same specification as Item 1 -Accept color Options Are Revised: Mahogany, Graphite, Cherry and Gray. Minimum Order 1 or more.	100	EACH	\$171.08	\$17,108.00	KI-E3060/A/BL	\$85.00		MPF3060CTPW	i T			NO BID		
1C	Partial	Installation for items 1 through 1B:	%	FEE	NO FEE			10%			NO BID			NO BID		
		TOTAL LOW GROUP ITEMS 1-1B				\$132,587.00			\$64,312.50			NO BID			NO BID	
		Item 2 and 2A, Awarded TOTAL Low Group						l	1			INC BIB			NOBID	
2	BALANCE	Table: Folding, adjustable height, 30° x 72°, h laminate on approximately 3/4° plywood core with backer Approved Brands: Allied Plastics 133072WBCA and #133072WACA, or Virco # 623072PLY-Plywood, or Equal.														
		Minimum Order 1-25	25	EACH	\$183.56	\$4,589.00	KI-E3072/A/BL	NO BID			NO BID			NO BID	1	
2A	BALANCE	Minimum Order -26 or More														
2B		Installation for items 2 and 2A:	200	EACH	\$183.56	\$36,712.00	KI-E3072/A/BL				NO BID			NO BID	 	
	DALANCE	madiabori to rema 2 diu 2A:	%	FEE	NO FEE			NO BID			NO BID	:		NO BID		
		TOTAL LOW GROUP ITEMS 2 and 2A.				\$41,301.00			NO BID		·	NO BID			NO BID	
		Item 3 and 3A , Awarded Total Low Group														
3		Table: Student Center Kidney Shaped, laminated top and chrome finish adjustable legs. Size 72" W x 48" D. , Approved Brands: Allied Plastics # P5472K/L-2000, and P5472K/ L2000CR or Virco #48KID72PLY-Plywood or Moultrie Post Form #MPF 4872KTPW or Equal.			-											·
		Minimum Order 25 or More	400	EACH	\$288.08	\$115,232.00	KI- E4872K/A/BL	\$134.05	\$53,620.00	MPF4872KTPW	NO BID			NO BID		
3A	BALANCE	Same specification as Item 3 -Accept color Options Are Revised: Mahogany, Graphite, Cherry and Gray. Minimum order 1-50.	25	EACH	\$288.08	\$7,202.00	KI- E4872K/A/BL	\$136.55	\$3,413.75	MPF4872KTPW	NO BID	·	1	NO BID		
38	BALANCE	Installation for Items 3 and 3A:	%	FEE	NO FEE			10%			NO BID		Ī	NO BID		
		Total Low Group Items 3 and 3B.]			\$122,434.00			\$57,033.75			NO BID	Î		NO BID	

SF	READS	HEET 069-JJ01: FURNITURE , TABLES, BOOK									<u> </u>					
		DISPLAYER AND LECTERNS		1001-04-0-0-0-0-0-0-0-0-0-0-0-0-0-0-0-0-	Krue	ger Interna	tional, Inc.	Mot	ıltrie Post	Form, Inc.	Offic	e Elite Ser	vices Inc.	Indus	n Rehabat tries & Div nterprises	ersified
ITEM		DESCRIPTION	QTY.	UNIT	PRICE PER UNIT	EXTENDED PRIC	MANUFACTURES & MODEL #	PRICE PER UNIT	EXTENDED PRICE	MANUFACTURER & MODEL #	PRICE PER UNIT	EXTENDED PRICE	MANUFACTURE R & MODEL #	PRICE PER UNIT	EXTENDED PRICE	MANUFACTUR R & MODEL
4	RALANCE	Items 4 and 44 Awarded Total Low Group		<u> </u>	-											
		Table: Trapezoidal, Metal legs, adjustable height, 30" x 30" x 60" Approved Brands: Allied Plastics #HC30TPTT/L-2000CR,or Virco #48TRAP60PLY-Plywood W(2) UTOTE TRAYS, or Equal														
		Minimum Order 26 or More	100	EACH	NO BID			NO BID			NO BID			NO BID		
4A	BALANCE	Minimum Order 100 or More	200	EACH	NO BID			NO BID			NO BID			NO BID		
4B	BALANCE	installation for items 4 and 4A:	%	FEE	NO BID			NO BID			NO BID			NO BID		
		TOTAL LOW GROUP ITEMS 4 AND 4A				NO BID			NO BID			NO BID			NO BID	
		Items 5, Awarded Low Unit Measure													110 5.5	
5	BALANCE	Table: Trapezoid, metal legs, adjustable helght, 30" x 30" x 60 Approved Brands: Allied Plastics #HC30TP/L-2000CR, or Virco #48TRAP60PLY- Plywood, or Equal														
		Minimum Order 26 or More	130	EACH	NO BID			\$82.50	\$10,725.00	MPF3060TRAPL Y	NO BID			NO BID		
5A	BALANCE	Installation for item 5;	%	FEE	NO BID			10%		MPF3060TRAPL Y	NO BID			NO BID		
		LOW UNIT MEASURE ITEM 5				NO BID			\$10,725.00			NO BID			NO BID	
		items 6 and 6A, Awarded Total Low Group														
6	PARTIAL	Table: adjustable height, 24" x 36", minimum table thickness														
		Approved Brands: Allied Plastics #F52436L-200 or Virco #482436 or Equal.														
		Minimum Order 1 -25	30	EACH	\$133.12	\$3,993.60	KI-E2436/A/BL	\$52.00	\$1,560.00	MPF2436AT	NO BID			NO BID		
6A	PARTIAL	Minimum Order 26 or More	100	EACH	\$133.12	\$13,312.00	KI-E2436/A/BL	\$49.70	\$4,970.00	MPF2436AT	NO BID			NO BID		
6B	PARTIAL	Installation for Item 6 and 6A:	%	FEE	NO FEE			10%			NO BID			NO BID		
\Box		TOTAL LOW GROUP ITEMS 6 AND 6A				\$17,305.60			\$6,530,00			NO BID			NO BID	

SF	PEADS	HEET 069-JJ01: FURNITURE , TABLES, BOOK		***************************************									· · · · · · · · · · · · · · · · · · ·			
		DISPLAYER AND LECTERNS			Krue	ger Interna	tional, Inc.	Moi	ultrie Post	Form, Inc.	Offic	e Elite Ser	vices Inc.	Priso	n Rehabal	oilitative
		The state of the s												Indus	tries & Div	ersified/
_							A	1			 				nerprises	, mc
ITEM	M-DCPS#	DESCRIPTION	QTY,	UNIT	PRICE	EXTENDED PRIC	MANUFACTURE & MODEL #	R PRICE	EXTENDED PRICE	MANUFACTURER 8 MODEL #	PRICE	EXTENDED PRICE	MANUFACTURE R & MODEL #	PRICE	EXTENDED PRICE	MANUFACTURI
			 	 	PER UNIT			PER UNIT			PER UNIT	ļ		PER UNIT	ļ	
_	<u> </u>	nems 7 and 7A, Awarded Total Low Group				ļ										
7	PARTIAL	Table: adjustable height, 24" x 48". Approved Brands: Allied Plastics #F52448L-200, Virco #482448 or Equal.														
		Minimum Order 1-25	30	EACH	\$144.5	\$4,336.80	KI-E2448/A/BL	\$57.00	\$1,710.00	MPF2448AT	NO BID			NO BID		
											i –					
7A	PARTIAL	Minimum Order 26 or More	100	EACH	\$144.56	\$14,456.00	KI-E2448/A/BL	\$54.50	\$5,450.00	MPF2448AT	NO BID			NO BID	ļ .]
7B	PARTIAL	Installation for Items 7 and 7A:	%	FEE	NO FEE			10%			NO BID			NO BID	 	1
		TOTAL LOW GROUP ITEMS 7 AND 7A				\$18,792.80			\$7,160.00		13.5.5	NO BID		NO DID	NO BID	†
		Items 8 and 8A, Awarded Total Low Group							1			NO DID		·	NO BID	
8	BALANCE	Table: Classroom, adjustable height, 24" W x 60"L. Approved Brands: Allied Plastics #HC2460/L2000, or Virco #482460PLY, or Equal.														
		Minimum Order 1-25	50	EACH	\$152.36	\$7,618.00	KI-E2460/A/BL	\$75.00	\$3,750.00	MPF2460CTPW	NO BID			NO BID		
8A	BALANCE	Minimum Order 26 or more	120	EACH	\$152.36	\$18,283.20	KI-E2460/A/BL	\$72.50	£0.700.00	MPF2460CTPW	NO DID					Ì
88	BALANCE	Installation for Items 8 and 8A:	%	FEE	NO FEE	V 10/200/20	NI EL 1007VEC		\$8,700.00			 		NO BID		ļ
			76	TEE.	NO FEE			10%			NO BID			NO BID		
		TOTAL LOW GROP ITEMS 8 AND 8A				\$25,901.20			\$12,450.00			NO BID			NO BID	
		items 9 Through 9B, Awarded Total Low Group														
9	BALANCE	Table: adjustable height, 48". Approved Brands: Allied Plasslics #HC48CR/L-2000, and P548CR/L2000CR or Virco 4848RPLY, or Moultrie Post Form # MPF 48RTPWT or Equal.														
		Minimum Order 1 - 25	30	EACH	\$191.36	\$5,740.80	E48R/A/BL	\$97.50	\$2,925.00	MPF48RTPWT	NO BID			NO BID		
9A	BALANCE	Minimum Order 26 or more	100	EACH	6404.55	040							To the second			
		Same specification as Item 9 -Accept color Options Are Revised: Mahogany, Graphite, Cherry and Gray, Minimum order 1-50.	100	EACH EACH	\$191.36 \$191.36	\$19,136.00 \$19,136.00		\$92.50 \$95.00		MPF48RTPWT MPF48RTPWT	NO BID			NO BID		
9C	BALANCE	Installation for Items 9 and 9B:	%	FEE	NO FEE	,			\$5,500.00					VO BID		
T		TOTAL LOW GROUP ITEMS 9 and 9B	- /*		NO / EE	044.040.51		10%			NO BID			VO BID		
1		Items 10, Awarded Low Unit Measure			·	\$44,012.80			\$21,675.00			NO BID			NO BID	
10	BALANCE	Table, Oak-Two compartments, approximately 18" x 46" x 23".		************												
		Approved Brands: No current approved brands for this item.		······································												
		Minimum Order 50 or more	250	EACH	NO BID		ļ	\$197.00	\$40,250,00	MPF1846ST/C	NO BID	ĺ	1	10.715		
10A	BALANCE	Installation for Items 10:	%	FEE	NO BID			10%	φ49,200.00		- i			10 BID		
				1				10%		Does not meet	NO BID			4O BID		
		LOW UNIT MEASURE FOR ITEM 10				NO BID				specs table is particle board instead of oak.		NO BID			NO BID	

SF	PREADS	HEET 069-JJ01: FURNITURE , TABLES, BOOK	*******								·			W		
		DISPLAYER AND LECTERNS			Krue	ger Internati	onal, Inc.	Mou	iltrie Post	Form, Inc.	Office	e Elite Ser	vices Inc.	Indus	n Rehabat tries & Div nterprises	ersified
ITEM		DESCRIPTION	QTY.	UNIT	PRICE PER UNIT	EXTENDED PRICE	MANUFACTURER & MODEL #	PRICE PER UNIT	EXTENDED PRICE	MANUFACTURER 8 MODEL #	PRICE PER UNIT	EXTENDED PRICE	MANUFACTURE R & MODEL #	PRICE PER UNIT	EXTENDED PRICE	MANUFACTURE R & MODEL #
		items 11. Awarded Low Unit Measure														
11	Partial	Desk - Two open-front book boxes, top is continuous and approximately 22" to 30", Approved Brands: Virco #792026BB or Equal.							Ì							
		Minimum Order 50 or more	400	EACH	NO BID			NO BID			NO BID			NO BID		
11A	Partial	Installation for Items 11:	%	FEE	NO BID			NO BID			NO BID			NO BID		1
		LOW UNIT MEASURE FOR ITEM 11				NO BID			NO BID		1	NO BID		,,0 510	NO BID	
		items 12 Through 14, Awarded Total Low Group									1	1000			חום טאו	
12	Partial	Stool - Oak, approximately 13" diameter seat, 24". Approved Brands: Georgia Chair # 24-G or Pride Ent. # 4SPOS- 24 or Equal.														
		Minimum Order 100 or more	400	EACH	NO BID			NO BID			\$73.00	\$29,200.00	4910	\$43.00	\$17,200.00	431STW24 FORMERLY 4SPOS-24
13	Partial	Stool - Oak, approximately 13" diameter seat, 30" Approved Brands: Georgia Chair # 30-G or Pride Ent. # 4SPOS- 30 or Equal.														
		Minimum Order 50	200	EACH	NO BID			NO BID			\$75.00	\$15,000.00	4910	\$45.00	\$9,000.00	431STW30 FORMERLY 4SPOS-30
14	Partial	Stool - Oak, approximately 13" dlameter seat, 18". Approved Brands: Georgia Chair # 18-G or Pride Ent. # 4SPOS- 18 or Equal.					·				·					
		Minimum Order 50	200	EACH	NO BID			NO BID			\$71.00	\$14,200.00	4910	\$41.00	\$8,200,00	FORMERLY 4SPOS-18
14A	Partial	Installation for items 12 through14:	%	FEE	NO BID			NO BID			10%			0%		
		Total Low Group items 12-14A				NO BID			NO BID			\$58,400.00			\$34,400.00	
		items 15, Awarded Low Unit Measure										350, 100.00		· · · · · · · · · · · · · · · · · · ·	201,400.00	i
15	Partial	Tote Tray - 11"W x 16"L x 4"D Approved Brands: Fabri Form # T165A or Equal.														
		Minimum Order 129 or more	645	EACH	NO BID			NO BID			NO BID		Ì	NO BID		
15A	Partial	Installation for Items 15:	%	FEE	NO BID			NO BID			NO BID			NO BID		
		Low Unit Measure 15				NO BID			NO BID			NO BID			NO BID	

SF	READS	SHEET 069-JJ01: FURNITURE, TABLES, BOOK	(
		DISPLAYER AND LECTERNS			Krue	ger Internat	ional, Inc.	Mot	ultrie Post	Form, Inc.	Office	Elite Ser	vices Inc.	Indus	n Rehabat tries & Div nterprises,	ersified
ITEN	M-DCPS#	DESCRIPTION	QTY.	UNIT	PRICE PER UNIT	EXTENDED PRICE	MANUFACTUREF & MODEL #	PRICE PER UNIT	EXTENDED PRICE	MANUFACTURER & MODEL #	PRICE	EXTENDED PRICE	MANUFACTURE R & MODEL #	PRICE	EXTENDED PRICE	MANUFACTURE R & MODEL #
16	Partial	Items 16. Awarded Low Unit Measure Book Displayer, 62"H x 25"W. Approved Brands: Fabn Form # T165A or Equal.	1					PERUNIT			PER UNIT			PER UNIT		
		Approved Brands: Fabn Form # T165A or Equal.	 			 		 			 	 				
16A	Partial	Minimum Order 1- 25 Installation for Items 16:	36	EACH	NO BID		TOWNS NO.	NO BID			NO BID			NO BID		
			%	FEE	NO BID	ļ		NO BID			NO BID	<u> </u>		NO BID		
	<u> </u>	Low Unit Measure Item 16 Items 17 Through 17B, Awarded Total Low Group	╁—			NO BID		 	NO BID			NO BID			NO BID	
17	Partial	Lectern, 46"H x 23"W x 16"D, Approved Brands: Ironwood manufacturing SL Stand-up Lecternor National Public Seating ESL-222 or Oklahoma Sound Corp. 222-MO or Equal.														
		Minimum Order: 1 to 5	22	EACH	NO BID			NO BID	·		NO BID			NO BID		
17A	Partial	Minimum Order: 6 to 25	66	EACH	NO BID			NO BID			NO BID			NÓ BID		
17B	Partial	Minimum Order; 26 or more	72	EACH	NO BID	l 1		NO BID								
17C	Partial	Installation for Items 17 through 17B:	%	FEE	NO BID	 		NO BID			NO BID			NO BID		
		TOTAL LOW GROUP ITEMS 17 -17B			NO BID	NQ BID		IVO BIO	NO BID		NO BID	NO BID		NÓ BID	NO BID	
		Items 18 and 18A, Awarded Total Low Group	1	1								140 010			UIB ON	
18	Partial	Stool, step, steel, approximately 16" diameter x 13" Approved Brands: Cramer Kik-Step 1001-92 (Black), 1001-19 (Belge) and 1001-82 (Gray) or Equal.														
		Minimum Order 1 to 4 each	10.	EACH	NO BID			NO BID			NO BID		İ	NO BID		
18A	Partial	Minimum Order 5 or more	35	EACH	NO BID			NO BID			NO BID			NO BID		
18B	Partial	Installation for items 18 and 18 A:	%	FEE	NO BID			NO BID			NO BID			NO BID		
	T	Total Low Group items 18 and 18 A				NO BID			NO BID			NO BID		10 010	NO BID	
		items 19 and 19A, Awarded Total Low Group				Ì						1.000			INO BIO	
19	Partial	Rocker,-Oak, Adult, natural wood finish,	1													
		46" to 48" high and seat approximately 20" W x 18"D, Approved Brands: Georgia Chair # 50S or Equal.														
_		Minimum Order 1 to 4 each	20	EACH	NO BID			NO BID			VO BID			O BID		
19A	Partial	Minimum Order 5 or more	25	EACH	NO BID],	NO BID			NO BID			IO BID		
19B	Partial	Installation for Items 19 and 19A:	%	Fee	NO BID			NO BID			NO BID					
		Total Low Group Items 19 and 19A	▆		510	NO BID		10 DID	VO BID			uo nin	^	10 BID		
20		BALANCE OF LINE DISCOUINT:		BALANCE	NO DIE	1,000		NO BID	.000		NO BID	NO BID		NO BID	NO BID	

SF	READS	HEET 069-JJ01: FURNITURE , TABLES, BOOK														
		DISPLAYER AND LECTERNS			Sch	oolhouse	Product Inc.		chool Spec	ialty Inc.		Virco	Inc.		Your Off	ice Inc.
											1			 		
ITEM	M-DCPS#	DESCRIPTION	QTY.	UNIT	PRICE PER UNIT	EXTENDED PRICE	MANUFACTURER & MODEL #	PRICE PER UNIT	EXTENDED PRICE	MANUFACTURER & MODEL #	PRICE PER UNIT	EXTENDED PRICE	MANUFACTURER & MODEL #	PRICE PER UNIT	EXTENDED PRICE	MANUFACTURER & MODEL #
		Items 1 through 1B		 	 			 								-
1	Partial	Table: Classroom, 30" x 60"adjustable Metal Legs, Approved Brands: Allied Plastics #HC3060WB/L2000CR, Virco # and P50360/L2000CR or Virco # 483060PLY-Plywood, or Moultrie Post Form # MPF 3060CTPW or Equal. 483060PLY-Plywood, or equal.		,												
		Minimum Order 1-25	25	EACH	\$107.00	\$2,675.00	ARTCO BELL 1230 PLY	\$87.67	\$2,191.75	AMTAB AA305DP	\$103.78	\$2,594.5	0 VIRCO 483060PL	NO BID		
1A	Partial	Minimum Order 26 or More	650	EACH	\$107.00	\$69,550.00	ARTCO BELL 1230 PLY	\$86.59	\$56,283,50	AMTAB AA305DP	\$103.78	1	VIRCO 483060PL	NO BID		
1B	Partial	Same specification as Item 1 -Accept color Options Are Revised: Mahogany, Graphite, Cherry and Gray. Minimum Order 1 or more.	100	EACH	\$107.00		ARTCO BELL 1230	\$87.67		AMTAB AA305DP	\$103.78	الم معالدة المعالجة الم	VIRCO 483060PL			
1C	Partial	Installation for Items 1 through 1B:	%	FEE	7%			7%	30,707.00	AMITAD AAGGOD!	15%		0 VIACO 463060FL	NO BID NO BID	 	
		TOTAL LOW GROUP ITEMS 1-1B				\$82,925.00			\$67,242.25			\$80,429.50		NO SID	NO DID	
									907,242.20			\$80,429.50		╫	NO BID	
2	BALANCE	Item 2 and 2A, Awarded TOTAL Low Group Table: Folding, adjustable height, 30" x 72", h						<u> </u>						<u> </u>		
		laminate on approximately 3/4" plywood core with backer Approved Brands: Allied Plastics 133072WBCA and #133072WACA, or Virco # 623072PLY-Plywood, or Equal.								A CONTRACTOR OF THE CONTRACTOR						
		Minimum Order 1-25	25	EACH	\$118.52	\$2,963.00	MIDWEST 630 EF	\$95.16	\$2,379.00	AMTAB 306DP	\$97.76	\$2,444,00	Virco 623072X	NO BID		
DA	BALANCE	Minimum Order -26 or More	200	EACH	\$118,52	200 704 00	MIDWEST 630 EF									
2₿		Installation for Items 2 and 2A:	200 %	FEE	\$118.52 7%	\$23,704.00	MIDWEST 630 EF	\$94.09	\$18,818.00	AMTAB 306DP	\$97,76	\$19,552.00	Virco 623072X	NO BID		
_	DVIE WOL		70	ree	1%			7%		Does not meet	15%			NO BID		
		TOTAL LOW GROUP ITEMS 2 and 2A.				\$26,667.00			\$21,197.00	specs because table is fixed height and the bid requirer adjustable		\$21,996.00	Does not meet specs table is fixed and specs requirer adjustable.		NO BID	
		Item 3 and 3A , Awarded Total Low Group														
3		Table: Student Center Kldney Shaped, laminated top and chrome finish adjustable legs. Size 72" W x 48" D., Approved Brands: Allied Plastics # P5472K/L-2000, and P5472K/ L2000CR or Virco #48KID72PLY-Plywood or Moultrie Post Form #MPF 4872KTPW or Equal.														
		Minimum Order 25 or More	400	EACH	\$194.15	\$77,660.00	ARTCO BELL 1275 PLY	\$130.19	\$52,076.00	AMTABAK486DP	\$176.07	\$70,428.00	VIRCO 48KID72PL	NO BID		
3A	BALANCE	Same specification as item 3 -Accept color Options Are Revised: Mahogany, Graphite, Cherry and Gray. Minimum order 1-50.	25	EACH	\$194.15	\$4,853.75	ARTCO BELL 1275 PLY	\$130.19	\$3,254.75	AMTABAK486DP	\$176.07	\$4.401.75	VIRCO	NO BID		
В	BALANCE	Installation for Items 3 and 3A:	%	FEE	7%			7%			15%	7.110.1110		NO BID		
		Total Low Group Items 3 and 3B.				\$82,513.75			\$55,330.75	i		\$74,829,75			NO BID	

SI	READS	HEET 069-JJ01: FURNITURE , TABLES, BOOK							**************************************					***************************************		
		DISPLAYER AND LECTERNS			Sch	oolhouse	Product Inc.	S	chool Spec	ialty Inc.		Virco	inc.	T	Your Off	ice Inc.
					_			 			 		**************************************			
ITEN		DESCRIPTION	QTY.	UNIT	PRICE PER UNIT	EXTENDED PRICE	MANUFACTURER & MODEL #	PRICE PER UNIT	EXTENDED PRICE	MANUFACTURER & MODEL #	PRICE PER UNIT	EXTENDED PRICE	MANUFACTURER & MODEL #	PRICE	EXTENDED PRICE	MANUFACTURER & MODEL #
4	BALANCE	liems 4, and 4A, Awarded Total Low Group			-			T CATOMI			PERUNII	<u> </u>	 	PER UNIT		
		Table: Trapezoidal, Metal legs, adjustable height, 30" x 30" x 60"	<u> </u>			 		 			 	ļ		1		
		Approved Brands: Allied Plastics #HC30TPTT/L-2000CR,or Virco #48TRAP60PLY-Plywood W(2) UTOTE TRAYS, or Equal														
ľ		Minimum Order 26 or More	100	EACH	6110.10	244.040.00	ARTCO BELL 1290							 		
Ī			100	EACH	\$110.10	\$11,010.00	ARTCO BELL 1290	\$80.14	\$8,014.00	AMTAB AT305DP	NO BID			NO BID		<u> </u>
4A		Minimum Order 100 or More	200	EACH	\$110.10	\$22,020.00	PLYTT	\$80.14	\$16,028.00	AMTAB AT305DP	NO BID	<u> </u>		NO BID		
4B	BALANCE	Installation for Items 4 and 4A:	%	FEE	7%	<u> </u>		7%	7		NO BID			NO BID		
<u> </u>		TOTAL LOW GROUP ITEMS 4 AND 4A Items 5, Awarded Low Unit Measure				\$33,030.00			\$24,042.00			NO BID			NO BID	
5																
3	DALANCE	Table: Trapezoid, metal legs, adjustable height, 30" x 30" x 60 Approved Brands: Allied Plastics #HC30TP/L-2000CR, or Virco #48TRAP60PLY- Plywood, or Equal		-												
		Minimum Order 26 or More	400				ARTCO BELL 1290		***************************************				VIRCO	 		
			130	EACH	\$104.50	\$13,585.00	PLY	\$80,14	\$10,418.20	AMTABAT305D	\$122.89	\$15,975.70	48TRAP60PL	NO BID	ļ	
5A	BALANCE	Installation for Item 5:	%	FEE	7%			7%			15%			NO BID		
		LOW UNIT MEASURE ITEM 5				\$13,585.00				Does not meet specs, table is particle board.		\$15,975,70			NO BID	
		Items 6 and 6A, Awarded Total Low Group										4,010.0110		1	INO BID	
6	PARTIAL	Table: adjustable height, 24" x 36", minimum table thickness						 						 		
		Approved Brands: Allied Plastics #F52436L-200 or Virco #482436 or Equal.														
		Minimum Order 1 -25	30	EACH	\$73,15	\$2,194.50	ARTCO BELL 1206 PLY	\$51.75	\$1,552.50	AMTAB AA243D	\$46.79	\$1,403.70	VIRCO 482436	NO BID		
6A	PARTIAL	Minimum Order 26 or More	100	EACH	\$73.15	\$7,315.00	ARTCO BELL 1206 PLY	\$50.68	\$5,068.00	AMTAB AA243D	\$46.79	\$4,679.00	VIRCO 482436	NO BID		
6B		installation for Item 6 and 6A:	%	FEE	7%			7%			15%			NO BID		
		TOTAL LOW GROUP ITEMS 6 AND 6A			T	\$9,509.50			\$6,620.50			\$6,082.70			NO BID	

SPREADSHEET 069-JJ01: FURNITURE , TABLES, BOOK					T											
		DISPLAYER AND LECTERNS			Sch	oolhouse	Product Inc.	s	chool Spec	cialty Inc.	T	Virco	Inc.	T	Your Of	ice Inc
														1		100 1110.
							*****	<u> </u>		180	 	***				
 	1		7		 	EXTENDED		ļ	EXTENDED PRICE	a	 	T rygrupes				
ITEM	M-DCPS#	DESCRIPTION	QTY.	UNIT	PRICE	PRICE	MANUFACTURER & MODEL #	PRICE	EXTENDED PRICE	MANUFACTURER 8		EXTENDED PRICE	MANUFACTURER &	1	EXTENDED PRICE	MANUFACTURER &
ļ			J 411.	Onn	PER UNIT		WODEL #	PER UNIT		MODEL#	PRICE PER UNIT	. [MODEL#	PRICE PER UNIT	.	MODEL #
		nems / and / A, Awarded Total Low Group										T				1
7	PARTIAL	Table: adjustable height, 24" x 48".	1								1		·	+		
1		Approved Brands: Allied Plastics #F52448L-200, Virco #482448 or Equal.	l			1							Ī	l		
		or cyual.	<u> </u>	L						_		1				
		Walter of Contract of	l		İ		ARTCO BELL 1210					1	1	i	-	
_		Minimum Order 1-25	30	EACH	\$74.25	\$2,227.50	PLY	\$57.37	\$1,721.10	AMTAB AA244D	\$49,4	\$1,484.7	VIRCO 482448	NO BID		
.	DADTIAL						ARTCO BELL 1210			West of the second	•		į.	•		
7A 7B		Minimum Order 26 or More	100	EACH	\$74.25	\$7,425.00	PLY	\$55.22	\$5,522.00	AMTAB AA244D	\$49.4	\$4,949.00	VIRCO 482448	NO BID		
78	PARTIAL	Installation for Items 7 and 7A:	%	FEE	7%	 		7%			159			NO BID		<u> </u>
┝	 -	TOTAL LOW GROUP ITEMS 7 AND 7A Items 8 and 8A, Awarded Total Low Group			 	\$9,652.50			\$7,243.10		ļ	\$6,433.70	!	!	NO BID	
	BALANOS		-		 	 						 		ļ		
8	BALANCE	Table: Classroom, adjustable height, 24" W x 60"L. Approved Brands: Allied Plastics #HC2460/L2000, or Virco														l
		#482460PLY, or Equal.									1			l		l
							ARTCO BELL 1235				 	 			 	
\vdash		Minimum Order 1-25	50	EACH	\$105.80	\$5,290.00	PLY	\$72.96	\$3,648.00	AMTAB AA245D	\$101.3	\$5,065.50	VIRCO 482460PL	NO BID		
8A	BALANCE	Minimum Order 26 or more	120	EACH	\$105.80	\$12,696.00	ARTCO BELL 1235 PLY	\$70.81	\$8 497 20	AMTAB AA245D	\$101.31	\$12 157 20	VIRCO 482460PL	NO BID		
8B	BALANCE	Installation for Items 8 and 8A:	%	FEE	7%				Ψ0,437,20	7 411 1710 1712 190		φ12,137.20	VINCO 482460PL		 	
			<u> </u>	165	170			7%		Does not meet	15%		 	NO BID		
H		TOTAL LOW GROP ITEMS 8 AND 8A				\$17,986.00				specs, table is particle board.						
				-		\$17,900.00			\$12,145.20	particle board.		\$17,222.70		 	NO BID	
		Items 9 Through 9B, Awarded Total Low Group									Ĺ					
9	BALANCE	Table: adjustable height, 48".														
		Approved Brands: Allied Plasslics #HC48CR/L-2000, and P548CR/L2000CR or Virco 4848RPLY, or Moultrie Post Form #						- 1								
		MPF 48RTPWT or Equal.						ı			l	l	Ĭ.	İ		•
							ARTCO BELL 1280								 	
		Minimum Order 1 - 25	30	EACH	\$91.85	\$2,755.50		\$97.55	\$2,926.50	AMTAB AR48DP	\$116.33	\$3,489.90	VIRCO 4848RPL	NO BID		
9A	BALANCE	Minimum Order 26 or more	100	EACH	\$91.85		ARTCO BELL 1280 PLY	****	20.047.00	AMTAB AR48DP						,
		Same specification as Item 9 -Accent color Options Are Revised-	100	LAOIT	φ91.05		ARTCO BELL 1280	\$96.47	\$9,647.00	AMTAB AR48UP	\$116.33	\$11,633.00	VIRCO 4848RPL	NO BID	 _	
9B	BALANCE	Mahogany, Graphite, Cherry and Gray. Minimum order 1-50.	100	EACH	\$91.85	\$9,185.00		\$97.55	\$9,755.00	AMTAB AR48DP	\$116.33	\$11,633.00	VIRCO 4848RPLX	NO BID		
9C	BALANCE	Installation for Items 9 and 9B:	%	FEE	7%			7%			15%			NO BID		
<u> </u>		TOTAL LOW GROUP ITEMS 9 and 9B				\$21,125.50	ļ		\$22,328.50			\$26,755.90			NO BID	
لبإ	541 44165	Items 10, Awarded Low Unit Measure														
10	BALANCE	Table, Oak- Two compartments, approximately 18" x 46" x 23". Approved Brands: No current approved brands for this item.	1													
										NATIONAL						
		Minimum Order 50 or more	250	EACH	NO BID			\$204.11	\$51,027.50	PUBLIC SEATING SLT2448	NO BID			NO PIO		
10A		Installation for Items 10:	%	FEE	NO BID			5%	ψυτ,υετ.30	0012770	NO BID			NO BID		
				1 to be				5%			חום טייו			NO BID		
					·		CUDANTA	l		Does not meet specs, dimensions						
		LOW UNIT MEASURE FOR ITEM 10				10.00			I	are different than						
لسسا		The state of the s		······································		NO BID			\$51,027.50	bid requirerments.		NO BID			NO BID	

SF	PREADS	HEET 069-JJ01: FURNITURE , TABLES, BOOK									1/// min-co-ac-2/1/1	············				
DISPLAYER AND LECTERNS					Schoolhouse Product Inc.			School Specialty Inc.				Virco	Inc.	Your Office Inc.		
		and the second s												<u> </u>		
ITEM	M-DCPS#	DESCRIPTION	QTY.	UNIT	PRICE PER UNIT	EXTENDED PRICE	MANUFACTURER & MODEL #	PRICE PER UNIT	EXTENDED PRICE	MANUFACTURER & MODEL #	PRICE PER UNIT	EXTENDED PRICE	MANUFACTURER & MODEL #	PRICE PER UNIT	EXTENDED PRICE	MANUFACTURER & MODEL #
l		Items 11. Awarded Low Unit Measure												1 1211 0.00	1	
11	Partial	Desk - Two open-front book boxes, top is continuous and approximately 22" to 30", Approved Brands: Virco #792026BB or Equal.														
		Minimum Order 50 or more	400	EACH	\$91.00	\$36,400.00	ARTCO BELL 1800 PLY	\$95.68	\$38,272.00	SCHOLAR CRAFT SC7950	\$77.32	\$30,928.00	VIRCO 792026BB	NO BID		
11A	Partial	Installation for Items 11:	%	FEE	7%			6%			15%			NO BID		
		LOW UNIT MEASURE FOR ITEM 11				\$36,400.00)		\$38,272.00		!	\$30,928.00		1	NO BID	
12	Dedict	items 12 Through 14, Awarded Total Low Group									Ţ - -]				
12	Partial	Stool - Oak, approximately 13" diameter seat, 24". Approved Brands: Georgia Chair # 24-G or Pride Ent. # 4SPOS- 24 or Equal.														
		Minimum Order 100 or more	400	EACH	\$47.50	\$19,000.00	DIVERSIFIED WOODCRAFT 5024K	\$56.68	\$22,672.00	GEORGIA CHAIR 24G	\$68.70	\$27,480.00	VIRCO 12324	NO BID	·	
13	Partial	Stoot - Oak, approximately 13" diameter seat, 30" Approved Brands: Georgia Chair # 30-G or Pride Ent. # 4SPOS- 30 or Equal.							·					10000		
		Minimum Order 50	200	EACH	\$52.00	\$10,400.00	DIVERSIFIED WOODCRAFT 5030K	\$61.14	\$12,228.00	GEORGIA CHAIR 30G	\$73.38	\$14,676,00	VIRCO 12330	NO BID		
14	Partial	Stool - Oak, approximately 13" diameter seat, 18". Approved Brands: Georgia Chair # 18-G or Pride Ent. # 4SPOS- 18 or Equal.														
		Minimum Order 50	200	EACH	\$42,50	\$8,500.00	WOODCRAFT 5018K	\$57.26	\$11,452.00	GEORGIA CHAIR	22224					
14A	Partial	Installation for Items 12 through14:	%	FEE	7%	40,000.00		\$57.20 5%	\$11,452.00	160	\$66.24	\$13,248.00	VIRCO 12318 .	NO BID		
		Total Low Group items 12-14A			7.72	\$37,900.00		576	£46.850.00	***************************************	15%			NO BID		
		Items 15, Awarded Low Unit Measure		***************************************		ψ07,300.00			\$46,352.00			\$55,404.00			NO BID	
15	Partial	Tote Tray - 11"W x 16"L x 4"D Approved Brands: Fabri Form # T165A or Equal.														
		Minimum Order 129 or more	645	EACH	NO BID			\$13.61	\$8,778.45	FABRI-FORM T165A	NO BID			NO BID		
15A		Installation for Items 15:	%	FEE	NO BID			5%	1		NO BID			NO BID		
		Low Unit Measure 15				NO BID			\$8,778.45			NO BID			NO BID	

S	PREADS	HEET 069-JJ01: FURNITURE , TABLES, BOOK											T				
	DISPLAYER AND LECTERNS				Scl	Schoolhouse Product Inc.			School Specialty Inc.			Virco	Inc.	T	Your Office Inc.		
		The second of the second of the second												1			
					-			 			-						
ITEN	M-DCPS#	DESCRIPTION	QTY.	TINU	PRICE PER UNIT	EXTENDED PRICE	MANUFACTURER & MODEL #	PRICE	EXTENDED PRIC	MANUFACTURER & MODEL #	PRICE		MANUFACTURER & MODEL #	PRICE	EXTENDED PRICE	MANUFACTURER & MODEL #	
_		Items 16. Awarded Low Unit Measure			PER UNII			PER UNIT	<u> </u>		PER UNI	r		PER UNIT			
16	Partial	Book Displayer, 62"H x 25"W. Approved Brands: Fabri Form # 1165A or Equal.				 					-	-			<u> </u>		
	-				1	-		ļ	 	<u> </u>	╫			 	 		
_	_	Minimum Order 1- 25	36	EACH	NO BID			\$712.14	\$25,637.04	4 Gressco 3615	NO BID	1		NO BID			
16A	Partial	Installation for Items 16:	%	FEE	NO BID			5%			NO BID		CONTRACTOR OF STREET	NO BID		+	
		Low Unit Measure Item 16				NO BID		l	\$25,637.04	.!	1	NO BID	 	INO BID			
	<u> </u>	Items 17 Through 17B, Awarded Total Low Group				T T					_	INO BID	 	 	NO BID		
17	Partial	Lectern, 46"H x 23"W x 16"D, Approved Brands: Ironwood manufacturing SL Stand-up Lecternor National Public Seating ESL-222 or Oklahoma Sound Corp. 222-MO or Equal.															
<u> </u>		Minimum Order: 1 to 5	22	EACH	NO BID			\$149.97	\$3,299.34	OKLAHOMA SOUND 222-MO	NO BID			\$231.00	\$5,082.00	PUBLIC SEATING ESL 222	
17A	Partial	Minimum Order: 6 to 25	66	EACH	NO BID			\$123.60	\$8,157.60	OKLAHOMA	NO BID			\$214.00	\$14,124.00	PUBLIC SEATING	
17B	Partial	Minimum Order: 26 or more	72	EACH	NO BÌD			2445.04		OKLAHOMA	!			JET 1.00		PUBLIC SEATING	
17C	Partial	Installation for Items 17 through 17B:	%	FEE	NO BID			\$118.94 7%	\$8,563.68	SOUND 222-MO	NO BID	 		\$208.00	\$14,976.00	ESL 222	
	<u> </u>	TOTAL LOW GROUP ITEMS 17 -17B				NO BID		7 70	\$20,020.62		NO BID	NO BID		15%	ļ		
		items 18 and 18A, Awarded Total Low Group										NO BID			\$34,182.00		
18	Partial	Stool, step, steel, approximately 16" diameter x 13" Approved Brands: Cramer Kik-Step 1001-92 (Black), 1001-19 (Beige) and 1001-82 (Gray) or Equal.															
		Minimurn Order 1 to 4 each	10	EACH	NO BID			\$56.02	\$560.20	CRAMER 1001	NO BID			\$52.00	\$530.00	CRAMER 1001	
18A	Partial	Minimum Order 5 or more									A THE STREET			402.00	4320.00	CHAMEN 1001	
18B	Partial	installation for Items 18 and 18 A:	35 %	EACH	NO BID			\$51.87	\$1,815.45	CRAMER 1001	NO BID	L	i	\$52.00	\$1,820.00	CRAMER 1001	
		Total Low Group items 18 and 18 A	70	FEE	NO BID			5%			NO BID			25%		<u> </u>	
		Items 19 and 19A, Awarded Total Low Group	 			NO BID			\$2,375.65			NO BID			\$2,340.00		
19	Partial	Rocker,-Oak, Adult, natural wood finish.															
		46" to 48" high and seat approximately 20" W x 18"D, Approved Brands: Georgia Chair # 50S or Equal.															
		Minimum Order 1 to 4 each	20	EACH	NO BID			\$223.58	\$4,471.60	GEORGIA CHAIR 50-S	NO BID			NO BID	-		
19A	Partial	Minimum Order 5 or more	25	EACH	NO BID		į			GEORGIA CHAIR				NO BID			
19B		Installation for Items 19 and 19A:	%	Fee	NO BID			\$206.41 3%	\$5,160.25	******	NO BID			NO BID			
		Total Low Group Items 19 and 19A		. , , ,		NO BID		3%	\$9,631:85		NO BID			NO BID			
20		BALANCE OF LINE DISCOUINT:					Artco Bell	+	85,100,185			NO BID			NO BID		
	L		%	BALANCE	52%			36%			66. 5%			50%		CRAMER	